DU BTech IT N Mathematical Innovations

Topic:- DU_J18_BTECH_Topic01

1) the number of ways in which an examiner can assign 30 marks to 8 questions, giving not less than 2 marks to any question, is
[Question ID = 6603]

JIC

1. ¢ [Option ID = 26405]
1

2. [Option ID = 26406]
JICE .

3. [Option ID = 26404]
JIC

4, 7 [Option ID = 26403]

Correct Answer :-

11
. C. [Option ID = 26403]

2) A circle passes through the points (-1, -1) and (3, 7). Which of the following cannot also be a point on the circle? [Question ID = 6560]

1. (0, 1) [Option ID = 26232]
2. (1, 1) [Option ID = 26234]
3. (1, 0) [Option ID = 26231]
4. (0, 0) [Option ID = 26233]

’

Correct Answer :-
e (0, 1) [Option ID = 26232]

3) Acircle is tangent to both negative x axis and positive y axis and passes through the point (-4, 6). The sum of the radii of all such
posiible circles is [Question ID = 6565]

1. 24 [Option ID = 26252]
2. 12 [Option ID = 26254]
3. 20 [Option ID = 26253]
4. 10 [Option ID = 26251]

Correct Answer :-
« 20 [Option ID = 26253]

4) Acircle is inscribed in an ellipse. If ‘P’ is the probability that a point within the ellipse chosen at random lies outside the circle, then the
eccentricity of the ellipse is [Question ID = 6583]

1 — p2
1 V1-P [Option ID = 26324]
2. V1=P [option ID = 26323]
/ - :
3.V (1+P) 1 [Option ID = 26326]

i1 _— i 4 2
4. V1= (1=P)* [onon b = 26325]
Correct Answer :-

5) The figure shows a peg board used for a game show. Whenever the gray chip falls onto a peg, it has an equal chance to bounce either
to the left or the right peg right.



If the chip is dropped from the right peg on the second row (as shown), the slot it
would most likely fall to is

[Question ID = 6576]

1. 6 [Option ID = 26298]
2. 1 [Option ID = 26295]
3. 3 [Option ID = 26296]
4. 4 [Option ID = 26297]

Correct Answer :-
* 4 [Option ID = 26297]

6) A man takes a forward step with probability 0.8 and backward step with probability 0.2. What is the probability that at the end of 9
steps he is exactly three steps away from the starting point; [Question ID = 6585]

5377

1. 5" [Option ID = 26332]
5354

2. 7 [Option ID = 26334]
5376

3. 37 [Option ID = 26333]
63388

4, 5% [Option ID = 26331]

Correct Answer :-
69888

« 5% [Option ID = 26331]

7) In each of the following questions a part of the figure is missing. Find the right figure from the options to fit the missing pieces.

-3

[Question ID = 6619]

[Option ID = 26468]

[Option ID = 26470]

AR R

[Option ID = 26469]



4, [Option ID = 26467]

Correct Answer :-

. [Option ID = 26467]

8) In each of the following questions a part of the figure is missing. Find the right figure from the options to fit the missing pieces.

oy

N

[Question ID = 6618]

1. [Option ID = 26464]
2. [Option ID = 26465]
3. [Option ID = 26463]
4. [Option ID = 26466]

Correct Answer :-

. [Option ID = 26465]

9) Let f(x)=ax’+bx+c and f(-1) <1, f(1) >-1, f(3)<—4 and a#0, then

[Question ID = 7155]

1. a > 0 [Option ID = 28611]
2. a < 0 [Option ID = 28612]
3. @=1/2 [Option ID = 28614]
4. sign of @ cannot be determined [Option ID = 28613]

Correct Answer :-
e g< 0 [Option ID = 28612]



The following graphs represent the function f(x) (in bold line) and its derivative f*(x)
(in dotted lines). The graph that shows the correct relationis
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[Question ID = 6553]

1. GRAPH III [Option ID = 26205]
2. GRAPH I [Option ID = 26203]

3. GRAPH II [Option ID = 26204]
4. GRAPH IV [Option ID = 26206]

Correct Answer :-
* GRAPH I [Option ID = 26203]

11) Two points are taken at random on the given straight line segment of length ‘a’. The
probability for the distance between them to exceed a given length ‘¢’ is, where

0<c<a;

[Question ID = 6579]

@-9)

. [Option ID = 26310]
(1-2)

) a?/ [Option ID = 26309]
(1-2)

3. a7 _ [Option ID = 26307]
(1-9

4, ¢/ [Option ID = 26308]

Correct Answer :-

(x-2)
. 2/ _ [Option ID = 26307]



A block has edge lengths of 3 cm, 4 cm, and 5 em (as shown), where opposite faces
have the same color. If the block is rolled, which color is most likely to come up on
top? (Assume the block's mass is evenly distributed.)

S5cm

3cm

4 ¢m

[Question ID = 6617]

1. Each colour is equally likely [Option ID = 26462]
2. Black [Option ID = 26461]

3. Gray [Option ID = 26460]

4. White [Option ID = 26459]

Correct Answer :-
« White [Option ID = 26459]

1 1
;)
below is transformed using the matrix \'1 ; followed by the transformation
V2 2

matrix _O] ? . The transformed image will be

IMAGE IlI IMAGE IV

[Question ID = 6566]



1. IMAGE I [Option ID = 26256]
2. IMAGE I [Option ID = 26255]

3. IMAGE IV [Option ID = 26258]
4. IMAGE III [Option ID = 26257]

Correct Answer :-
o IMAGE II [Option ID = 26256]

14) An ant begins from (0, 0) in the xy-coordinate plane. It then travels to each point with
non-negative integer coordinates following the pattem shown below. The ant stops
moving after 2018 units, toits final position (x, ). The value of x + y is
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[Question ID = 6611]

1. 44 [Option ID = 26435]
2. 50 [Option ID = 26436]
3. 45 [Option ID = 26438]
4. 25 [Option ID = 26437]

Correct Answer :-
« 50 [Option ID = 26436]

15) If @> 0 and the equation ‘2—4:1j ‘+|2—2a‘=3rspresmts an ellipse, then a lies in the
interval

[Question ID = 6607]

L (143) [Option ID = 26422]

2. (1.3) [option ID = 26419]

5, (V2.43)

4. (033) [Option ID = 26421]

[Option ID = 26420]

Correct Answer :-

. (053) [Option ID = 26421]

16) Lt o, and o, be roots of the equation x* —x+ p=0and leta,. @, be the roots of the
equation x*—4x+¢=0. If .a,.a,.0, are in geometric progression. Then the

integral values of P and ¢ respectively are

[Question ID = 6591]

1. -6, -32 [Option ID = 26358]
2. -6, 3 [Option ID = 26357]
3.-2, -3 [Option ID = 26356]
4. -2, -32 [Option ID = 26355]

Correct Answer :-



« -2, -32 [Option ID = 26355]

” X/ (x)

If f (x) is a polynomial satisfying ltm —— =1, 7(0)=0,/(1) =2,/ (2) =4,/ (3)

x> | 4 x
=6,thenf(4) =
[Question ID = 6538]

1. 32 [Option ID = 26145]
2. 0 [Option ID = 26146]
3. 8 [Option ID = 26144]
4. 4 [Option ID = 26143]

Correct Answer :-
e 32 [Option ID = 26145]

18) : ; 108 oy (34254
Consider the equation ‘x a et |

=(x-3) M
The equation has

[Question ID = 6589]

1. unique solution [Option ID = 26347]

2. no solution [Option ID = 26349]

3. more than two solutions [Option ID = 26350]
4. Exactly two solutions [Option ID = 26348]

Correct Answer :-
« no solution [Option ID = 26349]

19) The sum of the squares of three distinct real numbers which are in strictly increasing GP is 5
their sum is &S.

If §= 10%"5: then the greatest value of the middle term is

[Question ID = 6599]

1. 12 [Option ID = 26389]
2. 5 [Option ID = 26387]
3. 10 [Option ID = 26388]
4. 8 [Option ID = 26390]

Correct Answer :-
« 10 [Option ID = 26388]

20) Given that AB = 12, CD = 1 and the semicircle is tangent to BC, the radins of the
semicircle is

[Question ID = 6567]

1. 6 [Option ID = 26259]
2. 9 [Option ID = 26261]



3. 8 [Option ID = 26260]
4. 4 [Option ID = 26262]

Correct Answer :-
e 4 [Option ID = 26262]

21) The number of solutionsof 2 +z=0 is

[Question ID = 6606]

1. 2 [Option ID = 26416]
2. 5 [Option ID = 26418]
3. 3 [Option ID = 26417]
4. 4 [Option ID = 26415]

Correct Answer :-
« 5[Option ID = 26418]

-|x|, |x|£1

Given f(x)=
7 ) [x|-1 |x[=1

and g (x) =f(x— 1) + f(x + 1), the value of the

integral I g(x) dx is
-3
[Question ID = 6554]

1. 2 [Option ID = 26209]
2. 24 [Option ID = 26207]
3. 8 [Option ID = 26208]
4. 40 [Option ID = 26210]

Correct Answer :-
e 24 [Option ID = 26207]

23) Let fi [-1. 0] — R be a function differentiable within the domain such that

j‘(f(x})2 dx =10, f(-1)=2.

-1

Then the value of the integral T xf’(x)f(x) dx is
-1

[Question ID = 6557]

1. - 3 [Option ID = 26222]
2. - 6 [Option ID = 26221]

3. — 14 [Option ID = 26219]
4, —7[Option ID = 26220]

Correct Answer :-
e — 3 [Option ID = 26222]



There is a light in another room that can be in one of three states: blue, red or off. In vour room,
wvou have two buttons numbered 1 and 2 that control the state of the light The state of light
changes as follows:

» If vou press button 1, then the light changes to the next state clockwise around the diagram.

» If vou press button 2 while the light is blue or red the state of the light will not change.

+ If vou press button 2 while the light is off the light will change to blue

Off

N

Red Blue

You want to make sure that the light is gff but since the light is in another room, vou do not know
what state the light is currently in. The shortest sequence of button presses that will gnarantee
that the light will be offis x1x2... xnwherex;i=1lor2 for/=1,2, ... n

The value of nzis

[Question ID = 6613]

1. 6 [Option ID = 26445]
2. 7 [Option ID = 26446]
3. 5 [Option ID = 26444]
4. 4 [Option ID = 26443]

Correct Answer :-
e 6 [Option ID = 26445]

25) Let P(x) denotes the probability of the occurrence of event X. Then, all those
points(x,y) = (P(A4),P(B)). in a plane which satisfies the condition P(AU B) =
3/4and1/8 < P(ANB) < 3/8 implies;

[Question ID = 6584]

1. 7/8=X+y =11/8 [gption 1D = 26329]
X+Y<7/8 [option I = 26330]

3. X+ ¥ > 11/8 [option ID = 26328]

X+ =11/8 [65ti0n 0 = 26327

Correct Answer :-
7/8=x+y<=11/8 [option I = 26329]

**) The period of the function which satisfies the relation
f)+fx+4)=f(x+2)+f(x+6)is

[Question ID = 6534]

1. 6 [Option ID = 26128]
2. 5 [Option ID = 26129]
3. 8 [Option ID = 26127]
4. 4 [Option ID = 26130]

Correct Answer :-
* 8 [Option ID = 26127]



ii}iec(xz In (cot_1 x)) =

[Question ID = 6536]

1. 2/3 [Option ID = 26137]
2. 1/3 [Option ID = 26135]
3. - 1/3 [Option ID = 26136]
4. - 2/3 [Option ID = 26138]

Correct Answer :-
e —1/3 [Option ID = 26136]

28) A maths professor asked one of his students to visit his house regarding some work
The student asked the professor his house number. The professor replied in a strange
way:

s If my house number is a multiple of 3, then it is a number from 50 to 59.

¢ If my house numberis not a multiple of 4, then it is a number from 60 to 69.

¢ If my house numberis not a multiple of 6, thenit is a number from 70 to 79.
The sum of the prime factors of the professor's house number is

[Question ID = 6612]

1. 18 [Option ID = 26439]
2. 21 [Option ID = 26441]
3. 26 [Option ID = 26442]
4. 73 [Option ID = 26440]

Correct Answer :-
e 21 [Option ID = 26441]

29) The sum of the squares of three distinct real numbers which are in strictly increasing GP is 5.
their sum is oS.

If r=2. then the value of [rx]} is (where [.]denotes the greatest integer function and r is
common ratio of GP)
[Question ID = 6598]

1. 2 [Option ID = 26385
2. 0 [Option ID = 26383
3. 1 [Option ID = 26384

]
]
]
4. 3 [Option ID = 26386]

Correct Answer :-
* 2 [Option ID = 26385]

3) Letf:R > Rbegivenby f(x) = (x + 1)2 —1,x = —1. Then f 1(x) is
[Question ID = 6533]

. Does not exist, as fis not onto.

, —1—+vx+1 [Option ID = 26124]

; Does not exist, as fis not one-one
4. —LENE ] [Option ID = 26123]

Correct Answer :-

R 1 57 [Option ID = 26123]

[Option ID = 26126]

[Option ID = 26125]



31) a+if

Let a, 5,7 be three numbers such that o'+ F 47 —y=0and z= ;
—¥

Value of ais

[Question ID = 6609]

T

2 1+|z|‘
( ) [Option ID = 26428]

L
20+|2[)
&
231+
Z+Z

20+

[Option ID = 26429]

[Option ID = 26430]

[Option ID = 26427]

Correct Answer :-

zZ+7z
2(1+|z\‘)
[Option ID = 26427]

) The real values of x that satisfy the equation x> —2¥=0is

[Question ID = 6546]

1. 2 [Option ID = 26176]
2. 1 [Option ID = 26175]
3. 3 [Option ID = 26177]
4. 4 [Option ID = 26178]

Correct Answer :-
« 3 [Option ID = 26177]

33) The number of integral solutions of the equation x+ y+z =0, where x,y.z are all
>—5is

[Question ID = 6602]

1. 455 [Option ID = 26401]
2. 105 [Option ID = 26402]
3. 135 [Option ID = 26399]
4. 136 [Option ID = 26400]

Correct Answer :-
e 136 [Option ID = 26400]

34) g
If Z|:%+;—O}= 21,where [x]denotes the integml part of x, then & equalto
Pl

[Question ID = 6594]

1. 80 [Option ID = 26368]
2. 85 [Option ID = 26369]
3. 84 [Option ID = 26367]
4. 83 [Option ID = 26370]

Correct Answer :-
« 80 [Option ID = 26368]



35) The diagram below shows a grid of 2 x 4 dots (of negligible size) that altemate
between black and white. The number of ways there are to draw ten line segments
between the dots such that
+ cach white dot is connected to exactly one black dot (and vice versa),

« nosegmentpasses through more than two dots, and
« none of the segments intersect each other

. @0@O0
0e0e

[Question ID = 6575]

1. 11 [Option ID = 26292]
2. 12 [Option ID = 26291]
3. 10 [Option ID = 26293]
4. 17 [Option ID = 26294]

Correct Answer :-
e 11 [Option ID = 26292]

36) Each of the digits 1, 2, ..., 8 are placed exactly once in the grid below so that the
equations are frue.

Al 4+ |B|=]|C
+ X
D% = | F
G H

A x B x Cx E = [Question ID = 6616]

1. 240 [Option ID = 26457]
2. 70 [Option ID = 26458]
3. 48 [Option ID = 26456]
4, 40 [Option ID = 26455]

Correct Answer :-
e 40 [Option ID = 26455]



Each of the digits 1. 2, ..., 8 are placed exactly once in the grid below so that the
equations are true.

Al + B| = |C

D+ = | F
G H

A + B + D + E = [Question ID = 6615]

1. 15 [Option ID = 26454]
2. 18 [Option ID = 26451]
3. 13 [Option ID = 26452]
4. 16 [Option ID = 26453]

Correct Answer :-
e 13 [Option ID = 26452]

38) If @, b and © are non-coplanar vectors and A is a real number, then
d+b)(A%bxAc)=d-((b+¢)xb) for
[Question ID = 6564]

1. exactly two values of 4. (01 1p = 26248]
exactly one value of A.

[

[Option ID = 26247]

3. no value of A. [option 1D = 26250]

exactly three values of A.

4. [Option ID = 26249]

Correct Answer :-

. novalueof A. [option ID = 26250]

) Let PG) =6 — D —2)r— 3w (x —50) and
Ox)=(x+Dx+2)(x+ 3)...... 1z 8.

If P(x) O(x) = @100 x'% + ago x*° + aog x*® +...+ a1 x! + ao then the value of
aioo - ase — dss — A7 1S

[Question ID = 6535]

1. 21926 [Option ID = 26131]
2. 42926 [Option ID = 26132]
3. 0 [Option ID = 26133]
4. -1 [Option ID = 26134]

Correct Answer :-
e 42926 [Option ID = 26132]



The area of a regular hexagon is H and the area of the shaded region in it is 5. The
ratioof H: §is

[Question ID = 6569]

1. 7:2 [Option ID = 26267]
2. 6:1 [Option ID = 26270]
3. 5:1 [Option ID = 26269]
4. 9:2 [Option ID = 26268]

Correct Answer :-
* 9:2 [Option ID = 26268]

41) Let A be the area bounded by the curve y = —k!7x!® + k and the x axis. The value of
684 is

[Question ID = 6549]

1. 128 [Option ID = 26189]
2. 68 [Option ID = 26188]
3. 34 [Option ID = 26187]
4. 32 [Option ID = 26190]

Correct Answer :-
e 128 [Option ID = 26189]

42) A square dance has the following commands:
s "Rotate Right" means everyone moves one pace around the square,
counterclockwise.
¢ '"RotateLeft" means everyone moves one pace around the square, clockwise.
s "Diagonal Swap" means the person in the lower-left position and the person in
the upper-right position switch places, while the other two people stay still.

A B B C D A A D
& > [
A
~
D C A D C B B C
Original Rotate Rotate Diagonal
Position (OP) Right (RR) Left (RL) Swap (DS)

A choreographer choreographs a sequence that is made of the steps, starting from the
original position

RR >RR »DS »>RL—>DS

The position of A after 21 repetitions of the above steps is

[Question ID = 6570]

1. The upper right corner [Option ID = 26274]
2. The upper left corner [Option ID = 26272]
3. The lower right corner [Option ID = 26273]



4, The lower left corner [Option ID = 26271]

Correct Answer :-
« The lower right corner [Option ID = 26273]

43) Thereisa light in another room that can be in one of three states: blue, red or off. In vour room,
wvou have two buttons numbered 1 and 2 that control the state of the light The state of light
changes as follows:

» If vou press button 1, then the light changes to the next state clockwise around the diagram.
+ If vou press button 2 while the light is blue or red the state of the light will not change.
+ If vou press button 2 while the light is gff the light will change to blue

off

a3
\]_':a
1/‘ \E or2
= 5
QY Yo
Red

Blue
Y ou want to make sure that the light is gff but since the light is in another room, vou do not know

what state the light is currently in. The shortest sequence of button presses that will guarantee
that the light will be offis x1x2... xnwherex;=lor2 for/=1,2, ..., n

x1txt ... txp=

[Question ID = 6614]

1. 6 [Option ID = 26447]
2. 9 [Option ID = 26450]
3. 7 [Option ID = 26448]
4. 8 [Option ID = 26449]

Correct Answer :-
» 8 [Option ID = 26449]

44) A right triangle ABC with side AB = x and BC = 12 intersects a square with side 4B at
the point D. The value of x that maximizes the area of the shaded portion of the
triangle is

A

[Question ID = 6547]

1. 6 [Option ID = 26181]
2. 12 [Option ID = 26179]
3. 3 [Option ID = 26182]
4. 4 [Option ID = 26180]

Correct Answer :-
* 4 [Option ID = 26180]



The graph of a function £(x) is given below. The value of lim f( f(x)) is
x—6
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[Question ID = 6539]

1. 6 [Option ID = 26148]
2. 7 [Option ID = 26149]
3. does not exist [Option ID = 26150]
4. 5 [Option ID = 26147]

Correct Answer :-
« 5 [Option ID = 26147]

46) If the root of the equation x” +2ax+b =0 are real and distinct and they differ by at
most 2m., then b liesin the interval

[Question ID = 6588]

. 2
(@ -m’.a’) [Option ID = 26343]

[a*—m’,a")

2. [Option ID = 26344]

3, (@@’ +m’) [Option ID = 26345]
g lda’+m’] [Option ID = 26346]
Correct Answer :-

. [@-m'.a) [Option ID = 26344]

47) Tet F(x) be a function defined by F(x)=x—[x], 0##x e R, where [x] is the
greatest integer less than or equal to X. Then the number of scolutions of
F(x)+ F(l1/x)=1 is/are

[Question ID = 6590]

1. 2 [Option ID = 26354]
2. 0 [Option ID = 26351]
3. 1 [Option ID = 26353]
4. infinite [Option ID = 26352]

Correct Answer :-

« infinite [Option ID = 26352]

48) If £(x) = max (]2 sin y — x|) for y € (—o0, =), then the minimum value of £'(x) is

[Question ID = 6540]



1. 2 [Option ID = 26151]
2. 1 [Option ID = 26154]
3. 0 [Option ID = 26153]
4, - 2 [Option ID = 26152]

Correct Answer :-
e 2 [Option ID = 26151]

49) The distance between the two foci F and F’ of an ellipse is 8 units. P is any point on
the ellipse such that |[PF| + |[PF’| = 32. The maximum area of the triangle PFF’is

[Question ID = 6559]

1. 4238 [Option ID = 26229]

2. “’Wf 240 [Option ID = 26227]
5 3./240

. 34238

[Option ID = 26228]

[Option ID = 26230]

Correct Answer :-

. 44240 [Option ID = 26227]

a b ac-b
Thedeterminant | b ¢ ba—c |=0, a=0if
@ 0

[Question ID = 6595]

1. a,b,c are in HP [Option ID = 26373]
2. a,b,c are in AGP [Option ID = 26374]
3. a,b,c are in AP [Option ID = 26371]
4. a,b,c are in GP [Option ID = 26372]

Correct Answer :-
« a,b,c are in GP [Option ID = 26372]

51)

] S o+i,
Let a, 5.7 be three numbers such that &+ 8+ —y=0 and = =—"€

e
v

Value of SBis

[Question ID = 6610]

e

1, 20+]2)) [Option ID = 26431]
Z

2(1+\z\‘) _
[Option ID = 26434]

(z—2)i

3. 2(”‘2 ‘ )" [Option ID = 26432]
2z

=

1+|z

[Option ID = 26433]
Correct Answer :-
(z—z)i

oy 2
. "‘:1+‘2 ‘ ) [Option ID = 26432]



52)  Tet P(f) represent the amount of chemical a factory produces as a function of

time 7 (in hours). The rate of change of chemical production satisfies the differential
equation

PE)_ 153 P(z){l—@]
dt 3
If the factory alarm is raised when chemical production exceeds 4 in4 hours, the
inequality that represents the maximum initial amount of chemical that guarantees
the alarm will not be raised is

[Question ID = 6550]

Py 128

1. [Option ID = 26191]
P

2. 313 [Option ID = 26194]
P0) <22

3. 337 [Option ID = 26192]
BOy<2 >

4. [Option ID = 26193]

Correct Answer :-
2 (1)

. 323 [option ID = 26193]

* The graph represents the function y = g (x). Which of the following statements is true?
y

y = g(x)

[Question ID = 6544]

1. d(-2) > ¢(2) > ¢(0) [Option ID = 26170]
2. ¢(-2) > (0) > ¢(2) [Option ID = 26169]
3. 4(0) > ¢(2) > ¢(-2) [Option ID = 26167]
4. g(2) > d(-2) > g(0) [Option ID = 26168]

Correct Answer :-



« g(-2) > d(2) > ¢(0) [Option ID = 26170]

54) A regular 11-sided polygon ABCDEFGHIJK is inscribed in a unit circle, as shown
below.

Thevalueof ABx ACx AD x AE x AF is

[Question ID = 6568]

1. 11 [option ID = 26263]
2. 22 [Option ID = 26265]

3. V11 [option ID = 26264]

P

N22 )
4. [Option ID = 26266]
Correct Answer :-

« 11 [option ID = 26264]

55) =3 1
d, b, ¢ are three vectors of magnitude V2.1 and J_z respectively, and satisfying

|[Ei. 5, E]|= 1, then the value of (d +2b +f.")-((cixf;) x(d— f;]+{.:)=

[Question ID = 6562]

1. 0 [Option ID = 26239]
2. 5 [Option ID = 26241]
3. 6.5 [Option ID = 26240]
4. 8 [Option ID = 26242]

Correct Answer :-
* 6.5 [Option ID = 26240]

56) 1

The range of the function f defined by f(x) = [—] where [x] & {x} respectively

sin{x}

denote the greatest integer and fractional part of x, is
[Question ID = 6531]

Lo the set of integers. (Option ID = 26115]

». IV, the set of natural numbers. 00 10 = 261167
5. W, the set of whole numbers. o b - 261177

4 {2: 31-4: }

[Option ID = 26118]

Correct Answer :-

. N, the set of natural numbers. ;o0 1p = 26116



57) The sum of the squares of three distinct real numbers which are in strictly increasing GP is s
their sum is &S

Maximum interval for o2 is

[Question ID = 6596]

1 3“‘.
1. 137 [option 1D = 26377]
B
2. E.. "'J [Option ID = 26376]
\
1_.1@(’1,3‘]
3, \3 i [Option ID = 26378]
g
Lal
4. 3 [Option ID = 26375]

Correct Answer :-

e
~.1{u(13)
. 37 (option 1D = 26378]

8) If 4,b,C are mutually perpendicular vectors and d =a(§xf;)+ﬁ(5x5)+}*(5xﬁ]

and [5. b, E}= 1, then o+ B+y=

[Question ID = 6561]

-2
1. ~d] [Option ID = 26236]

2

‘Za

a
| [Option ID = 26235]
4. 0 [option ID = 26237]

[Option ID = 26238]

2

w

Correct Answer :-

d
. | [Option ID = 26235]

2

%9 If g, b and ¢ are non-coplanar vectors, then

[(d+5)x(5-t’] (f;+(.:)x(c'+c.i) {f."—a')x(a'H;H
[Question ID = 6563]
) oa b ]
el

a%|

3. [Option ID = 26246]

[Option ID = 26245]
3

2. [Option ID = 26244]

[Option ID = 26243]
Correct Answer :-

4|[a b ¢

3

[Option ID = 26243]



60) Consider the system of linear equations 2x+3y+5z=9.7x+3y—2z=8 and
2x+3y+dz=pn

Under what condition does the above system of equations have infinitely many solutions? [Question ID = 6604]

1. A=9 and u=3 [Option ID = 26409]
, =9 and p=5 [Option ID = 26410]
. A=5 and u=9 [Option ID = 26408]
. A=5 and u=#9 [Option ID = 26407]

Correct Answer :-

=5 -,
5 and p=9 [Option ID = 26408]

61) Consider the system of linear equations 2x+3y+5z=9.7x+3y—2z=8 and
2x+3y+Az=4

Under what condition does the above system of equations have a unique solution? [Question ID = 6605]

A hasanyreal valueand u#9
1. [Option ID = 26414]

A+5 T
& and p=7 only [Option ID = 26412]

Y

= 5 —
and p=9 [Option ID = 26411]

A#35 and g hasanyreal value )
[Option ID = 26413]
Correct Answer :-

A#5 and g hasanyreal value [Option ID = 26413]

62) Tetf:[0.1] — R be a continuous function such that f(x) f(x — 1) = 1. Then the value

of the integral j#dr is
o 1+f(x)

[Question ID = 6552]

1. 2 [Option ID = 26200]
2. 0 [Option ID = 26201]
3. 0.5 [Option ID = 26202]
4. 1 [Option ID = 26199]

Correct Answer :-
e 0.5 [Option ID = 26202]



A pyramid is made out of blocks, where the first layer has 1 block, the second laver 1s
a square made up of 4 blockd and the third layer is a square made up of 9 blocks, and
s0 on, so that each #* layer is a square made from »2 blocks.

Each block has a number written on it. The top block has the number 1 written on it,
but every other block has the sum of all the blocks that touch its top side written on it.
The first five layers are as follows:

1st 2nd 3rd 4th 5th
III 111 112]|1 113|131 1|4|6(|4|1
1)1 2142 3|19|9|3 4 (16|24|16] 4
112 |1 3|19|9]|3 6 (24|36|24| 6
1]3[3]1 4 |16[24[16[ 4
1|4|6|4|1

The number on the block that is in the 3rd column and the 4th row of the 100th layer is [Question ID = 6574]

1. 590438611224 [Option ID = 26288]
2. 634062082500 [Option ID = 26289]
3. 66701250 [Option ID = 26290]

4. 760874499 [Option ID = 26287]

Correct Answer :-
* 760874499 [Option ID = 26287]



A pyramid is made out of blocks, where the first layer has 1 block, the second laver 1s

a square made up of 4 blockd and the third layer is a square made up of 9 blocks, and
s0 on, so that each #* layer is a square made from »2 blocks.

<
<L

R
aannis

Each block has a number written on it. The top block has the number 1 written on it,
but every other block has the sum of all the blocks that touch its top side written on it.
The first five layers are as follows:

1st 2nd 3rd 4th 5th
II] 111 112]|1 113|131 1|4|6(|4|1
1)1 2142 3|19|9|3 4 (16|24|16] 4
112 |1 3|19|9]|3 6 (24|36|24| 6
1]3[3]1 4 |16[24[16[ 4

1|4|6|4|1

The sum of the numbers on the outermost blocks of the 10th layer is [Question ID = 6571]

1. 1016 [Option ID = 26278]
2. 1020 [Option ID = 26277]
3. 512 [Option ID = 26276]
4. 508 [Option ID = 26275]

Correct Answer :-

65) 4 pvramid 1s made out of blocks, where the first layer has 1 block, the second laver is
a square made up of 4 blockd and the third layer is a square made up of 9 blocks, and
so on, so that each »™ layer is a square made from »2 blocks.

ST
LT

aanpis

Each block has a number written on it. The top block has the number 1 written on it,
but every other block has the sum of all the blocks that touch its top side written on it.
The first five layers are as follows:

1st  2nd 3rd 4th 5th
Iﬂ 1)1 112|1 113131 114|641
1|1 2142 319]|9|3 4 |16|24|16| 4
112 |1 319|9|3 6 |24|36|24]| 6
1]3[3]1 4 [16]24[16] 4

114|641




The sum of the numbers on the diagonal blocks in the 9th layer is [Question ID = 6573]

1. 20840 [Option ID = 26285]
2. 97240 [Option ID = 26283]
3. 25740 [Option ID = 26286]
4. 81364 [Option ID = 26284]

Correct Answer :-
« 20840 [Option ID = 26285]

66) A pyramid 1s made out of blocks, where the first layer has 1 block, the second laver is
a square made up of 4 blocks and the third layer is a square made up of 9 blocks, and
s0 on, so that each #™ laver is a square made from »2 blocks.

-

e L

< LS A =
S~ L

Each block has a number written on it. The top block has the number 1 written on it,
but every other block has the sum of all the blocks that touch its top side written on 1t.
The first five layers are as follows:

ist 2nd 3rd 4th 5th
[1] 11 1[2]1 1]3]3[1 1]4]6[4]1
11 2]4]2 3[o]9]3 4 [16[24[16] 4
1[2]1 HBEE 6 |24[36]24] 6
1]3[3]1 4 [16[24[16] 4

1]4]6]4a]1

The sum of the numbers on the diagonal blocks in the 10th layer is [Question ID = 6572]

1. 306008 [Option ID = 26282]
2. 369260 [Option ID = 26281]
3. 369512 [Option ID = 26280]
4. 97240 [Option ID = 26279]

Correct Answer :-
« 97240 [Option ID = 26279]

67) If A be an integer and e, 8 be the roots of 4x*—16x+ 4=0 such that 1<@ <2 and
2 < <3, then possible values of A are

[Question ID = 6586]

1. {62, 65, 68, 71, 75} [Option ID = 26338]
2. {60, 64, 68} [Option ID = 26335]

3. {61, 62, 63} [Option ID = 26336]

4. {49, 50,..., 62, 63} [Option ID = 26337]

Correct Answer :-
« {49, 50,..., 62, 63} [Option ID = 26337]



Shukla, Mishra, Singh, Kulkami, Rao, Joshi and Nair are to conduct interviews
simultaneously either alone or in pairs at four different locations—Surat, Chandigarh,
Delhi and Lucknow. If they travel in pair, they take the same mode of travel Only

one travels by rail, two are travelling by car and the rest travel by air.

Shukla is going to Lucknowbut neither by car nor by air.
Mishra prefers to travel by car.

Neither Joshi nor Nairis going to Delhi.

Only those going to Surat travel by road.

Kulkarni will assist his friend Mishra.

The two managers who go to Delhi travel by air.

In which of the following pair, both of the managers have same mode of travel? [Question ID = 6624]

1. Shukla-Mishra [Option ID = 26487]
2. Rao-Mishra [Option ID = 26488]

3. Nair-Rao [Option ID = 26489]

4. Kulkarni-Joshi [Option ID = 26490]

Correct Answer :-
« Nair-Rao [Option ID = 26489]

69) Shukla, Mishra, Singh, Kulkami, Rao, Joshi and Nair are to conduct interviews
simultaneously either alone or in pairs at four different locations—Surat, Chandigath,
Delhi and Lucknow. If they travel in pair, they take the same mode of travel. Only
one travels by rail, two are travelling by car and the rest travel by air.

Shukla is going to Lucknowbut neither by car nor by air.
Mishra prefers to travel by car.

Neither Joshi nor Nair is going to Delhi.

Only those going to Surat travel by road.

Kulkarni will assist his friend Mishra.

The two managers who go to Delhi travel by air.

Which of the following is true? [Question ID = 6622]

1. Joshi travels by road [Option ID = 26482]

2. Nair will assist Rao [Option ID = 26480]

3. Shukla conducts interviews alone [Option ID = 26481]
4. Kulkarni travels by air [Option ID = 26479]

Correct Answer :-
« Shukla conducts interviews alone [Option ID = 26481]

70) Shukla, Mishra, Singh, Kulkami, Rao, Joshi and Nair are to conduct interviews
simultaneously either alone or in pairs at four different locations—Surat, Chandigath,
Delhi and Lucknow. If they travel in pair, they take the same mode of travel. Only
one travels by rail, two are travelling by car and the rest travel by air.

Shukla is going to Lucknowbut neither by car nor by air.
Mishra prefers to travel by car.

Neither Joshi nor Nair is going to Delhi.

Only those going to Surat travel by road.

Kulkarni will assist his friend Mishra.

The two managers who go to Delhi travel by air.

Who will conduct interviews at Chandigarh? [Question ID = 6623]

1. Mishra [Option ID = 26486]
2. Nair [Option ID = 26483]



3. Singh [Option ID = 26484]
4. Rao [Option ID = 26485]

Correct Answer :-
« Nair [Option ID = 26483]

71) Shukla, Mishra, Singh, Kulkami, Rao, Joshi and Nair are to conduct interviews
simultaneously either alone or in pairs at four different locations—Surat, Chandigath,
Delhi and Lucknow. If they travel in pair, they take the same mode of travel. Only
one travels by rail, two are travelling by car and the rest travel by air.

Shukla is going to Lucknowbut neither by car nor by air.
Mishra prefers to travel by car.

Neither Joshi nor Nair is going to Delhi.

Only those going to Surat travel by road.

Kulkarni will assist his friend Mishra.

The two managers who go to Delhi travel by air.

Who goes to Delhi? [Question ID = 6621]

1. Data inadequate [Option ID = 26478]
2. Mishra-Kulkarni [Option ID = 26475]
3. Kulkarni-Joshi [Option ID = 26477]
4. Rao-Singh [Option ID = 26476]

Correct Answer :-
* Rao-Singh [Option ID = 26476]

72) Shukla, Mishra, Singh, Kulkami, Rao, Joshi and Nair are to conduct interviews
simultaneously either alone or in pairs at four different locations—Surat, Chandigarh,
Delhi and Lucknow. If they travel in pair, they take the same mode of travel. Only

one travels by rail, two are travelling by car and the rest travel by air.

Shukla is going to Lucknowbut neither by car nor by air.
Mishra prefers to travel by car.

Neither Joshi nor Nair is going to Delhi.

Only those going to Surat travel by road.

Kulkarni will assist his friend Mishra.

The two managers who go to Delhi travel by air.

Where will Kulkarni conduct the interviews? [Question ID = 6620]

1. Chandigarh [Option ID = 26473]

2. Surat [Option ID = 26471]

3. Cannot be determined [Option ID = 26474]
4. Lucknow [Option ID = 26472]

Correct Answer :-
« Surat [Option ID = 26471]



The curve defined by the parametric equationx =3 cosf,¥ =4 sin 7 is

TN
Se | o

GRAPH | GRAPH II GRAPH 11l GRAPH IV

[Question ID = 6548]

1. GRAPH III [Option ID = 26185]
2. GRAPH I [Option ID = 26183]

3. GRAPH II [Option ID = 26184]
4. GRAPH IV [Option ID = 26186]

Correct Answer :-
o GRAPH III [Option ID = 26185]

) Which of the following is a function? (Note: [.]& {.} denote the greatest integer and
fractional part function respectively)

[Question ID = 6532]

I
1. Xix {x} [Option ID = 26121]
In(x—1)
2. V1=X®  [Option ID = 26122]

x!

3. {x} [Option ID = 26120]
1

n[1—|x(] :
a. [Option ID = 26119]

Correct Answer :-

|
. E3; [Option ID = 26121]

75)
1+sin’x  cos’x 4sin 2x
Let f(x)=| sin’x 14cos’x 4sin2x |, f(a) and f(b) be the least and
sin” x cos’x  1+4sin2x

greatest values of f(x), then
[Question ID = 6601]

Sla)=2.f(b)=6andperiod of f(x)is 7
1. [Option ID = 26395]

fla)=-2.f(b)=6 and period of S5 «

fla)=2,f(b)=-6 and period of fX)is 7/
3 [Option ID = 26398]

. fla)=2,f(b)=-6 and period off(x:]is xzl

[Option ID = 26396]

[

[ 3]

[Option ID = 26397]



Correct Answer :-

a)=-2,f(B)=6 . x):
f( f( and period off( 5 7 Gotion ID = 26396]

76) The solution of x—1=(x—[x])(x—{x}) (where [x] and {x} are the integral and
fractional part of X ) is

[Question ID = 6587]

1. X R~[1.2] [Option ID = 26342]

x € R~[1.2) [

2. Option ID = 26340]

= R ~(1.2
3, X € R~(1.2) [Option ID = 26339]

xe[1.2
4, €[1,2) [Option ID = 26341]

Correct Answer :-

= g
. XEIL2) o ion D = 26341]

77) The total number of solutions of 2°°5* = |sin x| in [— 2, 5] is

[Question ID = 6528]

1. 15 [Option ID = 26106]
2. 12 [Option ID = 26103]
3. 14 [Option ID = 26104]
4. 16 [Option ID = 26105]

Correct Answer :-
« 14 [Option ID = 26104]

N

78) r-1
Letw#1is nth root of unity. thenvalue of Z‘zl+u"‘zJ is
Eall

[Question ID = 6608]

2| [Option ID = 26424]
%)
)J
)J

_ |zrl|J +

2
n(|zl| +

Zs
2l 7 [Option ID = 26423]

n(|zl|+

Z,
- [Option ID = 26426]

Z4

Z |+
. (| 1| [Option ID = 26425]

Correct Answer :-

2
()

2
n(|zl| +

[Option ID = 26423]

79)  If a function f(x) satisfies the functional equation f(tan#) = sin? 2 8 for all real &, then

J sy -

0

[Question ID = 6556]
5
1. F [Option ID = 26218]

[Option ID = 26215]

N
SIS

[Option ID = 26216]



-1
[Option ID = 26217]

b N

4.

Correct Answer :-

%) The curve x® +33 + x2y + 7 = 0 intersects the line 9x + y = 0 at the point (a, b). The
slope of the tangent to the curve x> +3* + x% + 7 = 0 at the point (a, b) is

[Question ID = 6542]

23
244

1. [Option ID = 26159]

13

), 244 [Option ID = 26162]
21

;. 244 [Option ID = 26160]
15

4. 244 [Option ID = 26161]

Correct Answer :-

15

. 244 [Option ID = 26161]

81) The sum of the squares of three distinct real numbers which are in strictly increasing GP is 52
their sum is oS.

If o’ =2. then the value of [r] is (where []denotes the greatest integer function and F is
common ratio of GP)

[Question ID = 6597]

1. 2 [Option ID = 26381]
2. 0 [Option ID = 26379]
3. 1 [Option ID = 26380]
4. 3 [Option ID = 26382]

Correct Answer :-
« 2 [Option ID = 26381]

82) Letf (x) = 6x> + 7x — 5. The average rate of change of / (x) when x changes from 0
to 18 is the same as the rate of change of f'(x) at x = a. The value of &° + &> + 90 is

[Question ID = 6545]

1. 666 [Option ID = 26172]
2. 900 [Option ID = 26171]
3. 810 [Option ID = 26174]
4. 342 [Option ID = 26173]

Correct Answer :-
e 900 [Option ID = 26171]



A straight line in the xy-plane passes through the point (3, 48) in the first quadrant and
intersects the positive x-axis and y-axis at points P and Q respectively. If O is the
origin, the minimum value of OP x OQ is

[Question ID = 6558]

1. 144 [Option ID = 26223]
2. 72 [Option ID = 26226]

3. 576 [Option ID = 26225]
4. 288 [Option ID = 26224]

Correct Answer :-
e 576 [Option ID = 26225]

84) If x"=y"=z",where a.b.c are unequal positive numbers and x.y,z are in GP, then
a+c is
[Question ID = 6593]

3

¥
>2b" [ option I = 26364]

3
2.2 3b” [option ID = 26363]

2l
3. [Option ID = 26366]
3
o,
<2b [Option ID = 26365]

Correct Answer :-
3
)
« 725" [option 1D = 26364]

85) Period of f(x) =x — [x + a] — b, where a,b € R* and, [.] denotes the greatest
integer function, is

[Question ID = 6529]

1. 1 [Option ID = 26109]

2. b [Option ID = 26108]
la —b| .

3. [Option ID = 26110]

a

4, [Option ID = 26107]

Correct Answer :-

. 1 [Option ID = 26109]

86) If ab’c’. a’b'c*, a’b’c’ are in AP (a.b,c >0), then the minimum value of a+b+c is

[Question ID = 6592]

1. 1 [Option ID = 26359]
2. 5 [Option ID = 26361]
3. 3 [Option ID = 26360]
4. 9 [Option ID = 26362]

Correct Answer :-
« 3 [Option ID = 26360]



The maximum ten:iperamre (T) of a city X for the first two weeks of January (1 —
141) is plotted as a function of time 7.

T(°C)

[ Ry
2el 11— 4 B

16} [ /

12

. _..
I~
| L~
.

Y /

d 1 N

. : | time(t
2 4 6 8 10 12 i )

The approximate rate of change of temperature on 9% January is
[Question ID = 6551]

1. 3.5 [Option ID = 26195]
2. 1 [Option ID = 26196]
3. -3 [Option ID = 26197]
4. 2 [Option ID = 26198]

Correct Answer :-
e 3.5 [Option ID = 26195]

88) A gameis played with the following rules:

s Player X starts with 1 chip

e In each round of play, a fair six-sided die is rolled. If the result is 1, 2, or 3, the
player loses a chip. If the result is 4 or 5, the player gains a chip. If the result is
6, 2 chips are gained.

s If atany time the player X has no chips, the gameis lost.

e Ifatanytime the player has 4 or more chips, he wins the game.

What is the probability that the player will win the game?

[Question ID = 6578]

1. 7/36 [Option ID = 26306]
2.19/108 [Option ID = 26305]
3. 1/3 [Option ID = 26303]

4. 4/27 [Option ID = 26304]

Correct Answer :-
* 1/3 [Option ID = 26303]



A bug stands on a random point of the lattice below. Each point is equally likely to be
the starting point. Every minute, the bug selects an adjacent point at random and
moves to it. Each point is equally likely to be the bug's starting point and each
adjacent point is equally likely to be chosen. Also, assume starting at 4 will "reach”
the pointA in 0 moves.

C B

If the bug starts from point G, the probability of reaching A in 2 moves or less is

[Question ID = 6580]

1. 1 [Option ID = 26314]

2. 5/9 [Option ID = 26311]
3. 1/3 [Option ID = 26312]
4. 5/18 [Option ID = 26313]

Correct Answer :-
e 5/18 [Option ID = 26313]

90) A bug stands on a random point of the lattice below. Each point is equally likely to be
the starting point. Every minute, the bug selects an adjacent point at random and
moves to it. Each point is equally likely to be the bug's starting point and each
adjacent point is equally likely to be chosen. Also, assume starting at 4 will "reach”
the point 4 in 0 moves.

C B

Starting form any point, what is the probability that the bug reaches point A in 2 moves or less? [Question ID = 6581]

1. 5/18 [Option ID = 26318]
2. 1/6 [Option ID = 26315]
3. 22/63 [Option ID = 26316]
4. 1/18 [Option ID = 26317]

Correct Answer :-



« 22/63 [Option ID = 26316]

91) A and B are points in the first quadrant such that the slopes of the line segments
04 and OB are 3 and 1/3, respectively, where O is the origin. If |04| = |OB| then the
equation of line which is parallel to the line segment AR and passes through the
point (-3, 7) is

[Question ID = 6555]

L YT 0 ion 1D = 26213]

2. ¥==2X T 1 (o5ton 1D = 26214]

3. Y4 onion I = 26212]

y=x+10 )
4.~ ; [Option ID = 26211]

Correct Answer :-

Y=274 ontion D = 26212]

92)

Lt f(x) = 319 — TP+ 59— 21a* +3x% — 7. The yalue of lim U=/ D 5
=0 +3h

[Question ID = 6543]

1. 53/3 [Option ID = 26163]
2. 13 [Option ID = 26165]

3. 22/3 [Option ID = 26166]
4. 13/3 [Option ID = 26164]

Correct Answer :-
e 53/3 [Option ID = 26163]

93) Directions
P = Q means Qis the father of P
P * Q means P is the sisterof Q
P ? Q means Qis the mother P
P $ Q meansPis the brotherof Q
P (@ Q meansQissonof P
P # Q means P is the daughter of Q

Which of the following is correct? [Question ID = 6625]

1.V # T * P means P is maternal uncle of V [Option ID = 26491]
2.L @ M $ R means R is paternal uncle of L [Option ID = 26493]
3. D ?V # T means D is granddaughter of T [Option ID = 26492]
4.M @R $ D ?V means M and D are husband and wife [Option ID = 26494]

Correct Answer :-
« M@R$D?Vmeans M and D are husband and wife [Option ID = 26494]

94) Directions
P = Q means Qis the father of P
P * Q meansPis the sisterof Q
P ? Q means Q is the mother P
P $ Q means P is the brotherof Q
P @ Q means Qis sonof P
P # Q means P is the daughter of Q



Which of the following indicates A is grandfather of B? [Question ID = 6626]

LB#L#A [Option ID = 26497]
22M#A=N=B [Option ID = 26495]
3.L*B=5$Q =A [Option ID = 26498]
4.B$L#Q# A [Option ID = 26496]

Correct Answer :-
e L*B=S$Q =A[Option ID = 26498]

95) The sum of the squares of three distinct real numbers which are in strictlv increasing GP is S
their sum is 5.

If we drop the condition that the GP is strictly increasing and take »* = 1, (where 7 is common
ratio of GP)then the value of & can be

[Question ID = 6600]

1. O [option ID = 26391]
H

2. ~3 [Option ID = 26394]
w2 | .
3. = [Option ID = 26392]
1

S
el oy

V2
4. [Option ID = 26393]

Correct Answer :-

El

« /3 [Option ID = 26394]

%) If Bis the root of the polynomial x2 + 24x + 1, then

2
liml cos(x“+24x+1) N

= (=)

[Question ID = 6537]

1. 144 [Option ID = 26142]
2. 286 [Option ID = 26139]
3. 12 [Option ID = 26141]

4. 576 [Option ID = 26140]

Correct Answer :-
« 286 [Option ID = 26139]

97)

A function f (x) i1s defined by f(x):% [ +f for all x,y € R™, the set of

Rl =

positive real numbers. If f(1)=0, f'(5)= 5. then f"(5)

[Question ID = 6541]

1. -1 [Option ID = 26156]
2.1 [Option ID = 26155]

3. -5 [Option ID = 26158]
4. 5 [Option ID = 26157]

Correct Answer :-
e —1[Option ID = 26156]



98)

If f (x) is defined in(0, 1), then the domain of definition of f (sinx) is

[Question ID = 6530]

1 2nmr, 2n+ Dn),neZ [Option ID = 26111]
2 ((n e 1)7[’ (TI i 1)?[)’?1 €z [Option ID = 26113]
(@n-1Z, @n+I)nez

3. [Option ID = 26114]

((2n+1)§, (2n + 3)%),:1 €EZ

4. [Option ID = 26112]

Correct Answer :-

. (2nm, 2ntA)m),nez [Option ID = 26111]

99) A batsman in his 16th innings makes a score of 70 runs and thereby increases his average by 2 runs. If he has never been not out,
then his average after 16th inning is [Question ID = 6582]

1. 38 [Option ID = 26320]
2. 36 [Option ID = 26319]
3. 42 [Option ID = 26322]
4. 40 [Option ID = 26321]

Correct Answer :-
e 40 [Option ID = 26321]

100) The figure shows a peg board used for a game show. Whenever the gray chip falls onto a peg, it has an equal chance to bounce
either to the left or the right peg right.

The probability of the chip falling in slot 2 is
[Question ID = 6577]

1. 1/16 [Option ID = 26299]
2. 1/8 [Option ID = 26300]
3. ¥ [Option ID = 26302]
4. 3/8 [Option ID = 26301]

Correct Answer :-
e 1/16 [Option ID = 26299]



